[QT125,

250 ¥

500 ACTUATORS

130
5.12

271
10.67"

189.5
7.46

5.307

134.
105,
2

[}
=}

ni

STOP BOLTS
NAME PLATE
OPTIONAL BASE MTG POSITION

BATTERY PLUG

2

2 | S—

MF

$6.8(0.27") EARTH
POINT

OPTIONAL CONDUIT
ENTRIES

OPTIONAL OIL PLUG
(BEHIND HANDWHEEL)

HAND AUTO LOCKING

HAND AUTO LEVER

HANDWHEEL
. OPTIONAL OIL PLUG
2-64L 4! 63 CofG
2.48"

VIEW ON ARROW

7%

CONDUIT ENTRIES

i

TAPPED 2xM25x1.5p

(OPTIONAL ADAPTORS FOR
M20,1/27,3/47,1"NPT, 1 1/47,1
PG16 & PG21).

1727,

203

BOLT HOLES 6.5 (1/47)

5.31 .00 =
127
DISPLAY WINDOW 5 007
,-&
‘,’" C :i;js
f .
!|ﬂ} A‘l&!!iib E, C 7 /& 7
N } oo
| N, NE =—
% 1 S h(sb -
- 4 :E?j‘ E%:
™
OPTIONAL OIL PLUG LOCAL /REMOTE /
OPEN/CLOSE STOP SWITCH
SWITCH OPTIONAL BASE MTG POSITION
NOTES:

:REGISTERED DESIGN 000034863

:F10/FAT0 BASE OPTION IS DETAILED TO
SUIT THE RELEVENT COUPLING ARRANGEMENTS.
FOR OPTIONAL FO5/FAQS5, FO7/FAO7 LOAD
SYMBOL TO THE POSITIONS INDICATED.

‘ - - -
« 44! FOS/FAOS & FQO7/FAQ7
Base Detail.

rotori

1QT125, 250,500 DATA
Date 090804 Scale 1:10

1IQT1-2

AA



[QT125,250 & 500 BASES

F10 BASE DETAILS

4 HOLES M10x1.5px16 DP
EQUI-SPACED ON A 102 PCD
(IS05211 F10)

NOTE-POSITION OF 2
M4 CAPSCREWS. REMOVE
[N ORDER TO WITHDRAW
DRIVE COUPLING.

F10 / FATO BASES

FAT0 BASE DETAILS

452 .
4 HOLES 3/8 -1BUNC
%120 x16 DP. EQUI-SPACED ON
4.727 A 4.0 PCD.

(MSS SP-101 FATO

NOTE-POSITION OF 2
M4 CAPSCREW. REMOVE
IN ORDER TO WITHDRAW
DRIVE COUPLING.

\
g 942 MAX (KEYED SHAFT)

5 1.657

. 32 MAX (SQUARE SHAFT)
1.267

F10/FA10 COUPLING DETAILS

FO7 BASE DETAILS

4528 NOTE-POSITION OF 2
CAPSCREWS M4. REMOVE
[N ORDER TO WITHDRAW
DRIVE COUPLING.

4 HOLES M8x1.25px12DP
EQUI-SPACED ON A

70 PCD.
(1505211 FO7)

FO/7 / FAO7 BASES

FAO7 BASE DETAILS

4545 NOTE-POSITION OF 2
CAPSCREW M4. REMOVE
90, IN ORDER TO WITHDRAW
35 DRIVE COUPLING.

4 HOLES 5/167-18UNC

x 12.70 DP EQUI-SPACED
ON A 2.75" PCD.

(MSS SP-101 FAO?

#28 MAX (KEYED SHAFT) !
1.107

g 19 MAX (SQUARE SHAFT)

66.
2.60
1
oo
4
65 MA

2.56"

FO7/FAOQ7 COUPLING DETAILS

FOS5 BASE DETAILS

4 HOLES MBx1.0px12DP
EQUI-SPACED ON A

50 PCD.
(1505211 FO3)

FOS / FAOS BASES

FAOS BASE DETAILS

4 HOLES 1/4”-20UNC
x12 DP EQUI-SPACED
ON A 2" PCD.

(MSS SP-101 FA0S)

822 MAX (KEYED SHAFT) !
- 0.87"

14 MAX (SQUARE SHAFT

B5 MAX
2.567

FOS/FAOS COUPLING DETAILS

rotori

1QT125, 250,500 BASES
Date 200803 Scale 1:10

IQT1_BC-1




[QT125,2250 & 500 ACTUATORS

WITH FATLSAFE OPTION

30x 203 310 180
1.187 8.23" 12.20 7.09”
R6
2.48
2100
3.947
TERMINAL COVER &
BATTERY HOUSING "\ r‘
—
[ea]i¥e] \/ \‘
o|nN
—|< { .
# T :¥,,4,J4},, —-—FF L
= ! a I 3
S8 ‘
Olg =|¢ | I
135 203
CONDUIT ENTRIES 54 5.317 8.00"
2.127
127
DISPLAY WINDONAN S 00”
— ’
N V4 V4
" IS Rl g € e
. an N3
N|o W} N oo
- %2 g _% %% 1
o~ . " — \
- ;; gﬂ 8 I 1] - <o
- T 3 4 9| 5
I T L T ot T
/ OPTIONAL OIL PLUG LOCAL /REMOTE/
STOP BOLTS OPEN/CLOSE STOP SWITCH

BATTERY PLUG

HANDWHEEL

VIEW ON ARROW

NAME PLATE

SWITCH
$6.8(1/47) EARTH POINT

OIL PLUG4 - OPT
(BEHIND HANDWHEEL)

CONDUIT ENTRY2 - OPT

HAND AUTO LOCKING
BOLT HOLES 6.5 (1/47)

HAND AUTO LEVER

N
o

n

130 CofG

67 \¥OIL PLUG3 - OPT
264 " ~
. 25 CofG

1.00"

%

CONDUIT ENTRIES

o

o~

o

TAPPED 2xM25x1.5p
(OPTIONAL ADAPTORS FOR

M20,1/27,3/47,1°NPT,

PG16 & PG21).

/47,1 1727,

OPTIONAL BASE MTG POSITION

NOTES:

:REGISTERED DESIGN 000034863

:F10/FAT0 BASE OPTION IS DETAILED TO
SUIT THE RELEVENT COUPLING ARRANGEMENTS.
FOR OPTIONAL FOS5/FAOS5, FO7/FAO7 LOAD
SYMBOL TO THE POSITIONS INDICATED.

|
FOS5/FAQOS & FO7/FAQ7
Base Detail. |

rotori

[1QT125, 250,500 FS DATA

Date 111104 Scale 1:10

IQT1FS-1

AA



